National Universal Product Code (NUPC) OMB Number: 0584-NEW

Type of Respondent	Form Number	Number of Respondents	Number of responses annually per Respondent	Total annual responses (c x d)	Hours per response	Total Annual Burden Hours (e x f)
Manufacturers	n/a	1,000.00	7.00	7,000.00	0.8333333	5,833.3331000
WIC State Agency Users	n/a	40.00	812.00	32,480.00	0.0416660	1,353.3116800
Annualized burden		1,040.00	819.00	39,480.00		7,186.6447800

NUPC Annualized Cost to Public

Description of the Collection Activity	Number of Respondents	Estimated Total Annual Burden on Respondents (Hours)	Estimated Average Income per Hour	Estimated Cost to Respondents
Manufacturers	1000	0.0835	\$21.35	\$1,782.73
WIC State Agency Users	40	0.0835	\$18.04	\$60.25
Total Year 1	1040			\$1,842.98

Description of the Collection Activity		Estimated Total Annual Burden on Respondents (Hours)	Estimated Average Income per Hour	Estimated Cost to Respondents
Manufacturers	1000	0.20875	\$21.35	\$4,456.81
WIC State Agency Users	40	3.7575	\$18.04	\$2,711.41
Total Year 2 & 3	1040			\$7,168.22

Total for all 3 Years combined	\$9,011.20
Aggregate Total divided by 3 years	
Annualized Burden	\$3,003.73

Description of the Collection Activity	Number of Respondents	Estimated Total Annual Burden on Respondents (Hours)	Estimated Average Income per Hour	Estimated Cost to Respondents
Manufacturers	1000	0.29225	\$21.35	\$6,239.54
WIC State Agency Users	40	3.841	\$18.04	\$2,771.67
3 Year Annualized Cost	1040			\$9,011.20

Annual Cost	\$3,003.73

NUPC Burden Table

Type of Respondent	Description of activity	Number of Respondents	Number of responses annually per Respondent	Total annual responses (c x d)	Estimate of Burden Hours per response	Total Annual Burden Hours (e x f)
Manufacturers	Entering products in database	1,000.00	7.00	7,000.00	0.0835000	584.5000000
	Entering products in database	40.00	800.00	32,000.00	0.0416600	1,333.1200000
WIC State Agency Users	Monthly uploading and downloadin g products	40.00	12.00	480.00	0.0416600	19.9968000
Annualized burden		1,040.00	819.00	39,480.00		1,937.6168000

OMB# 0584-NEW National Universal Product Code

Type of Respondent	Form Number		Number of responses annually per Respondent	Total annual responses (c x d)	Estimate of Burden Hours per response	Total Annual Burden Hours (e x f)
Manufacturers	n/a	1,000.00	7.00	7,000.00	0.0333333	233.3333333
WIC State Agency Users	n/a	40.00	1,212.00	48,480.00	0.0772216	3,743.7031680
1 Year Total		1,040.00	1,219.00	55,480.00		3,977.0365013

Type of Respondent	Form Number	Number of Respondents	Number of responses annually per Respondent	Total annual responses (c x d)	Estimate of Burden Hours per response	Total Annual Burden Hours (e x f)
Manufacturers	n/a	1,000.00	10.00	10,000.00	0.0333333	333.3333333
WIC State Agency Users	n/a	40.00	1,224.00	48,960.00	0.0772216	3,780.7695360
2&3 Year Total Aggregated		1,040.00	1,234.00	58,960.00		4,114.1028693
Total Burden Year 1,2 and 3			2,453.00	114,440.00		8,091.1393707
Annualized burden			817.67	38,146.67		2,697.0464569

Burden Hours for 1st Year

Manufacturers

Number of Respondo 1,000

Times Burden Hours $\times 0.833$ hours

Total Burden Hours 833 burden hours

WIC State Agencies

Number of Responde 40

Times Burden Hours <u>x 100 hours</u>

Total Burden Hours 4,000 burden hours

Federal Users

Number of Respondo 3

Times Burden Hours \underline{x} 8.33 hours

Total Burden Hours 24.99 burden hours

Burden Hours for 2nd and 3rd Years

Manufacturers

Number of Respondo 1,000

Times Burden Hours x 0.208 hours

Total Burden Hours 208 burden hours

WIC State Agencies

Number of Respondo 40

Times Burden Hours \underline{x} 62.50 hours

Total Burden Hours 2,500 burden hours

Federal Users

Number of Respondo 3

Times Burden Hours x = 2.08 hours

Total Burden Hours 6.24 burden hours

Provide narrative and table.